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I can move the reinforcement to the next floor without any problem


GO e ratE - B ]

Then, | use this tool

ndem / and it gives me all tilebilders to which is connected.
o 2 :

Referenzteilbilder von Teilbild 432

62 Wande 20G
24 Decke 10G
39 Decke EG
333 AW

34 AW2

335 AW

336 AW4

337 WA

3 w2

335 W3

D W4

341 IWs

M2 W6

M3 KW

<

SIS SIS RS S S SRS S S
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Then, I use this tool

and it gives me all tilebilders to which is connected.

Breon User
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Pfeil


Referenzteilbilder von Teilbild 432

£ 333 W3

£ 240 w4

DM IWS

Li o 342 IWe

Lr 33 KW

LP My KW3

LD M7 KW

Lo 344 KW2
e KW4
348 KWE

B 357 W7

v w431 KW
64

oS 350 Schnitte/Ansicht

Wande 3.0G

| click to all tilebilders

which are from the floor
down (1.0G), because |
don't want to have them
on the new floor (2.0G)

Anwenden
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I click to all tilebilders which are from the floor down (1.OG), because I don`t want to have them on the new floor (2.OG)


The second floor (2.0G) looks like | want (|

don't have the tilebilders from down, and |
don't need them here. And that is ok.
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The second floor (2.OG) looks like I want (I don`t have the tilebilders from down, and I don`t need them here. And that is ok.


But the problem is that | don't have them also on the
floor down (1.0G).

Why is this happening? | want to see also the 1.0G like it
was. Is there any way not to happen this?
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But the problem is that I don`t have them also on the floor down (1.OG).
Why is this happening? I want to see also the 1.OG like it was. Is there any way not to happen this?
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